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EXEMPLAR Score 20 

Question 1 – E8 

Q 1(a)(i) – X placed inside of frontier – correct 

Q 1(a)(ii) – arrows towards frontier – correct 

Explanation – increase in output, increase in economic growth. Increase in capital and 

consumer goods due to more efficient use of resources AND explicit link to model (X – X1) – 

(M6) 

Q1(b) – graph shift correctly 

Explanation – candidate mentions “increase in technology or net migration” … specifically 

links to model “shifts outwards as seen on Graph Two” … “only increases the amount the 

economy can produce in the future”. (M6) 

Question 2 – E7 

Q 2(a) – curve shifted correctly and labelled correctly 

Explanation – candidate mentions increase in C, I and G will lead to increase in economic 

growth – AND link to model (Y-Y1). (M6 evidence – 3 components) 

Q 2(b) – curve shifted correctly 

Explanation – candidate mentions decreasing profit margins, Y-Y1 and decrease in Real 

GDP (NO mention of decrease in economic growth) – therefore only A evidence 

However, candidate focused on increased costs of production having a greater impact, 

rather than increased spending as the impact over the next 50 years of increasing cost of 

production due to cost of obtaining the resource would exponentially increase every year. 

Also discussed how increased spending will only be short-lived and could be negative if 

Government spending resulted in increase of Government debt. = E7 (misses E8 as 

insufficient links to model in this part of the question). 

Question 3 – M5 

Business positive – farming … irrigated land leads to decreased cost of production … so 

profit margins would increase. = M evidence 

Business negative – not accepting “not part of the 25 000 hectares to be irrigated. They are 

unlikely to be worse off, just not better off.  

Household positive – decreased cost of meat and dairy is accepted for A, BUT no implication 

for households of this. 

Household negative – decreases health and well-being due to pollution accepted for A, BUT 

no implication of this. 


